10.000
3.000
) 1.500
1.000
17599
0.500

) E ]
oa 5.0
0.000

yw  10.000

Q =10.00 kN/m2

kN/m?
m
m

m
kN/m®

cm
kN/m?
kN/m®

H=3.000

o

0.500

2700

y =18.00 y '=10.00 p =30

N=10.0

1.500

10.000




y kN/m® d N
®° kN/m?
10.000 18.00 10.00 30.0 0.00 15.0 -15.0 10.0
y kN/m®
©° | KkN/m?
SP- W
a 0.80
a 1.00
a 1.00




% @ C Sy h+Q| y whw
m m kN/m? kN/m? kN/m? | kn/m? | Kk, K
1.500 1.500 18.00 30.0 37.000
1.500
2.000 0.500 10.00 30.0 42.000 5.000
2.000
3.000 1.000 10.00 30.0 52.000 | 15.000
3.000
10.000 7.000 10.00 30.0 122.000 | 85.000

a1 \/ 1 Ty 2 o

2C




C
a p Pal Pp Pa2 Pw
kN/m* kN/m* kN/m”> | kN/m® [Pa kN/m’ k , k
0.000 0.291 2.91 2.91
1.500 0.291 10.77 10.77
1.500 0.291 10.77 10.77
2.000 0.291 12.22 5.00 17.22
2.000 0.291 12.22 5.00 17.22
3.000 0.291 15.13 5.00 20.13
3.000 0.291 4.807 15.13 5.00 20.13
10.000 0.291 4.807 35.50 336.49 5.00 40.50
0s’(¢ -6 )
Ka= _ _ )
06 o0sd 6 [ / ing o6 _in(@-p -6 J
os(d6 © os(-3
2
0s(p -6
S 0s6 o0sd 6 { ((p/ ) Q_0 @ P -6 ]2
os(d6 © os(-3
6 0
Pal=Ka Z y Q 2CV Ka
Pal=Xy Q 2C
P 2
Pa2=K Xy Q }
2y 8
Pal= —
¢ 4 4 ¢
Pp=K Iy 2CV Kp
Pp=X vy 2C




4)

2.000

6.000

8.000

10.000

12.000

291

0.77
10.77

17,22
1722

20.13

020.13

) 40.50



5-1

( P L M=P L K
m KN/m? | KN/m? m kN m kN m

1.500 2.91 10.77 1.500 10.26 2.552 | 26.182 2.123
2.000 10.77 17.22 0.500 7.00 1.677 | 11.733 0.695
3.000 17.22 20.13 1.000 18.68 0.933 | 17.426 0.639
3.446 20.13 0.00 0.446 4.49 0.297 1.335 0.016
40.42 56.675 3.473
K=1/6(3-a )a 2 P

a =L/H

5-2
hp = EM/ZP = 56.675 /40.421 =1.402 m

(6)

SP- W
2 | (cm4) 32400| 27500 27500
Z (cm3) 1800 1530 1530
B=( B/H@EI a)) 0.562 m™
El :
El 2.0 x 27500 = 55000 kN m?
B: im
(o a 0.80
B hp= 0.788 2B hp= 1.576 1#2B hp=
Kh : Kh 17599 kN/m®
h 6910 x %48  =17599 KN/m?
31 /4B N 10.0
Lo 3m /4B 3t/ 4x 0.51) 4.62 m
Ho = 3.446 m
H . =Ho+Lo= 8.066 m
1.0
10 m

2.576



6-1

Mmax Lm

vV (1+2B hp)+1

Mmax = Mp x 26 hp X exp
_ V' 2576 ‘+1
= 56.675 x e
= 68.62 kN m
Lm=  1/8 x tan? =—=—t— = 0.659
- B tan 1+ZB hp - .
6-2
gSs
___ Mmax 68.620
0S=""7 1530 1000
Z 1530 cm®
a 1.00
o sa 180 N/mm?
6-3
1= LB W wpa= 0463
2Ela B
x (H + Ho)
2= 1428 hp 5 x Pax (H+Ho) =
2Ela B
0
3
3= Kx (H Ho - 0.323 cm
E Ix a
=1 2 3 2.077 cm 5.0

1 1

-t T

X exp —tan'lﬁ

m

= 45 N/mm? OK
Y3 _\_yz Y1,

i
|
|
!
|

cm |
i
!
|

1291 cm :
i
|
!
H

OK



()

B
B=( B/H@EI a)) 0.510 m™
El :
El 2.0 x 32400 = 64800 kN m?
Kh : Kh 17599 kN/m®
B: im
a a 1.00
B : (m™)
Ho 3.0/B 0.446 3.0/ 0.510 6.328 m
L H - 0.50 3.0/B 8.828 9.0
SP- W L = 9.0m
0.50——[-]
3.000
7
0.446

\ SP- W

L = 9.0m
6.054




